Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

QE

Ratio

0.5

1 10

—=— DQM_CKF _TTbar
—e— DQM_mkKFit_TTbar
—+— DQM_mkFit_TTbar-newTr2

o F : :
Q.OOQ:— """ S
(8] o .
D.008F- -+ wiereeedeseenhen
s F
80,007+ heemendensmsessbon b b
) E :
0008+ -eeeieeenens S RREITE ST
0.005f -+ eeeninenenne S P ST
0.004F-++++cieereredneenes S IRISEEt SN
0.003fF-++++wieseesdnerenes R TR SRR
0.002f -++++wieseesdnereees SRR NP SRR
0001—H ------------------------- + -------
o q:_""
- T
4 F : : : :
L ACCIRT OEE. SRR SRe SO
%=z 1T 0 1T 2

Efficiency vs ¢

& 0.01
2]
.009
[5)
$.008
o
£.007
(]
0.006
0.005
0.004

0.003

................................................

..................................................

................................................




	Contents
	Page 1


